Whitman College 
Econ 107 
Exam 4 
December 10, 1998 


Write all answers in your blue book. Show all of your work. 





1. Consider the Keynesian cross model in which planned consumption expenditures, C, are equal to 300 + 0.7(Y-T), where Y is real Gross Domestic Product, and T=100 is taxes. Planned investment expenditures, I, are equal to 200, and planned government expenditures, G, are equal to 150. 

(a) (5pts) What is the expenditure multiplier in this economy? 
(b) (10pts) Calculate the equilibrium real GDP. 
(c) (5pts) If investment were to fall to 140, what would happen to real GDP? 
(d) 10pts) Assume that I=200. If potential GDP is 2000, then what change in planned government expenditures would move the economy to potential GDP? Be specific. 
(e) (10pts) Assume that I=200 and G=150. If potential GDP is 2000, then what change in taxes would move the economy to potential GDP? Be specific. 



2. Suppose that there is one kind of banking deposit, and that banks are required to hold 5% of their deposits as reserves. Banks hold no excess reserves, and the public holds no currency. 

(a) (5pts) What is the deposit multiplier in this economy? 

Suppose the Federal Reserve buys $30 million of Treasury bills. 

(b) (15pts) What will ultimately happen to the money supply given the FedÕs purchase? 
(c) (15pts) Given the FedÕs purchase, what will happen to the Federal Funds Rate (the interest rate banks charge each other for overnight loans)? Explain, with reference to a supply and demand diagram for overnight loans between banks. 



3. (a) (5pts) Define inflation. 
(b) (5pts) Define investment. 
(c) (15pts) Discuss the argument that inflation reduces economic growth by reducing investment. Be sure to refer to the evidence linking inflation to growth.
